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W1/ Part-I1

QoI : 90
Max. Marks 90

Read these Instructions very carefully before attempting questions in Part-II

1, 3T A TR, ST b e waer-uw ¥ 1. Please write your Roll No. as given
7w f5RaT 4T 3 e on your Admission Card very clearly
%ZHW% _ . (T b A (only one digit in one box) Please
Uh 3% | T AT ¥ b g e frer see that no box is left unfilled even
= 98 WY | e TR | ST a1} I b 37eh Zeroes appearing in the Roll No. are
*ft ST o0 YRR U FTR-U5P U} T correctly transferred to the appropri-
Yo 3 TR < ate boxes on the booklet and the
e ¥ e e | Answer sheet.
SETERVT : G.ELTHE. B Example : for N.T.S.E.
310]1(3(0|4]0[3(2]|1]5 3/011]3(0[4]0]|3(2|1]|5
2. FWIAHHGS 0 WA F®RF 2. There are 90 questions in this paper.
SR fRu I 21 Each question is to be answered.
3. ¥ 90w FrfoRad Rl § wafg i o 1hese 90 questions belong to the
. following subjects:
1. ¥l El:‘ii. I 1. Physics
(P9 E& 19 12) - 12 U (S. No. 1 to 12) - 12 questions
& Wﬁ?ﬂﬂ 2. Chemistry
(PAEET 134 23) - 114 (S.No. 13 to 23) - 11 questions
5. Gﬁaﬁgﬂﬁ 3. Biology
(P9 @EAT 24 | 35) - 12 99 (S.No. 24 to 35) - 12 questions
4. g 4. Mathematics
(9 =T 36 A 55) - 209 (S.No. 36 to 55) - 20 questions |,
5. sfEm 5. History
(PH G 56 T 65) - 1094 (S.No. 56 to 65) - 10 questions
6. - 6. Geography
(Pra=Te6 W75) - 10U (S.No. 66 to 75) - 10 questions
7. IR e . 7. Political Science
(PG 76 H 85) - 10 HeA (S.No. 76 to 85) - 10 questions
' 8. Economics
= aafgm - (S.No. 86 to 90) - 5 questions
(FHA=T86 W 90) - 5 ¥H

TS - 90 W

Total - 90 questions
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For this paper, prescribed duration is
1.30 hours (90 minutes).

Answer to each question is to be
indicated by blackening, with HB
pencil, full darken corresponding
oval of correct one alternative
number by HB pencil. The scanner
will not accept the answer if the oval
is not filled completely dark if so the
candidate will be responsible for it. If
you want to change the wrong answer
then rub it and indicate by
blackening another oval.
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Now go to the next page and start answering the questions

e el T8 9 faRav|

Work at the place meant for it.

Note : Do not write anything anywhere in the boo
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klet except your Roll Number and Rough



(3)
1. 9 5 9 95 &1 90 T8} &
Which is not the unit of Force-
(1) uRSvEs/Poundal ) 2 $1g9/Dyne
(3) S&/Joule (4) =ge/Newton
2. e (SRT) o gaRer Rk awar 2—
The expansion of a solid body depends on—

) Hde ueTef & S W/ Mass of the solid only

) Pae garef & Hpfy wr/Nature of the solid only

) &ae aref & g uv/ Temperature of the solid only

) garef Y Wl e gHd a9 W/ Nature and temperature of the solid

3. [ Q¥ 1 o afFnal @1 a9 FEg &2
Which country is called the country of Wind mills?

(1) &dvs/Holland
(2) f&e1/Britain

3) “Rd/India

(4) 3mR®1/America

4. RT H WA ol AN B T eTe o

Who was the first President of Atomic energy commission in India—

(1) &t SR 91/ Homi Jahangir Bhabha

(2) 7 ARTTE /Vikram Sarabhai

(3) M. T1.U4. TR/ Prof. M.S. Swaminathan
(4) 1. A5F1E ATET/ Prof. Meghnad Saha

¥ B (Rough Work)

NTSE 13 - SAT [PT.O.



(4)
5. oTIeRr awn ¥ We % P Ay A -

The particles of the medium in the transverse wave move-

e

) gadR wY 9/ Circular Motion (form) e

) 3USIHR U H/Oval form
3) VT R ﬁ;‘%ﬂ #/in direction of the wave motion ,
4) T R Y 32 & @wrad/Perpendicular to the direction of the wave motion

\)

(
(
(
(

6. PRI RIFT &F BT 8-
The Lens used in the Camera is-
) 7% o/ Convex Lens
2) 3dd® 49/ Concave Lens,
) f&ST% @9 /Biconvex Lens
) f&orede @&/Biconcave Lens

7. <aft &1 9 waifere 8 2

| Velocity of sound is méaximum in—
(1) 9"/ Water . (2) o H/0Iil
(3) arg H/Air (4) @' H/Iron

8 U dioc s¥IER BT 8—

One Volt is equal to-

(1) 138/1 Joule

(2) 1 =ged/ee™/1 Newton/Coulomb
- (3) 1 9@/pam/1 Joule/Coulomb

(4)

1 o™ /=ge/1 Coulomb/Newton
% & (Rough Work)

NTSE 13 - SAT



(5)

9. TP aed ¥ SR 220 dlee R 60 A 177 gaN & Fe¥ &1 WRRIe Td g Faifed gy
T 7 ST I | .
On a bulb is written 220 Volt and 60 watt. Find out the resistance of the bulb
and the value of the current flowing through it.

(1) 806.66 3/806.66 ohm 7 0.27 YR/ 0.27 ampere

(2) 500 3M/500 ohm d 2 VfFTR/2 ampere

(3) 200 3MH/200 ohm T 4 YFIR/4 ampere

(4) 100 a/100 ohm d 1 VfFaR/1 ampere

10. g ¥ Hafferes ameor g g-

The maximum attraction in a magnet is—

(1) =g H/In the centre (2) fFIRI /On the sides

(3) gai /On the poles (4) eRr1as 9=/ On the surface
11. 3mafy &1 93 8—

The Unit of frequency is-

(1) &/Hertz 2) ww/Joule

(3) 3M/Chm (4) fFor FAR/Kilo Calorie

12. UBSI 3aRer IET of—

The first Astronaut in space was—

(1) @ St de/H.G. Wales

(2) i@ e /Neel Armstrong
(3) & TmRT/ Uri Gagarin

(4) <& e/ Robert Godai

I BRI (Rough Work)

NTSE 13 - SAT [PT.O.



(6)
13. & PI FgHIP BT 8-
Boiling point of Water is- .
1) 273° K 2 0 K
3) 373" K 4) 100" K

14. ufear, FRRs GRT 19 3R FRATR FT BSTr 37ev B T 8, P! 8-

The Process by which a mixture of Sodium Chloride and Ammonium Chloride
can be separated, is called-

(1) Sedfura/Sublimation (2) @memhl/Chromatography
(3) arsdiaur/ Evaporation (4) amad/ Distillation

-

15. IR Aok &1 g7 8-

The formula of Ammonium Sulphate is—

(1) NH,SO, (2) (NH,), SO,
(3) NH,(SO,), (4) NH,(SO,),

16. {5 dca & gt & B 8-

Isotopes of an element have-
(1) S Hife o1/ Same Physical Properties
) = wat@ T/ Different Chemical Properties
(3) =cr=g & fiy=1 der/ Different No. of Neutrons
) %= wHY i / Different Atomic Number

W6 ®d (Rough Work)

NTSE 13 - SAT



(7)

17.  Ueh R IbIeT ofed xS aRY T Sufeufar 5 7 foham Siran & a dret garef 'y’ a9
g, T W ersgod I yarfRd &y )R gH: ' x7 U B 81 x ek My B

A Brown and bright element "x" when heated in presence of air turns in to black

substance "y". If Hydrogen gas is passed over this heating material again "x" is

"n..n

obtained. "x" and "y" are-

(1) IR SR PR 3ileAzs/Cu & CuO
(2) e IR W SRRHTES /S & SO,
(3) @ 3R P SrgiRS/C & CO,
(4)

Aifeam 3k Wifeay gegee/Na & NaH
18. fedt Serfl fosa= @1 Py gldr 8-

Pu of any neutral solution is—

[ <0 | 2) 1
(3) 14 (4)

19. U 31grg S &9 IEwRT § U ol 8, 8-

A non metal, which is found in liquid state is—

(1) sH/Bromine (2) amarsH/lodine
(3) affadta/ Oxygen (4) @A/ Carbon

20, . ¢ e S o1 fosen @Y AeT @R 3T &, Y Py anfl-

The Pi of a solution which turns red litmus Blue will be-
(1) 1 (2} 9

(3) 4 4) 5

W% & (Rough Work)

NTSE 13 - SAT [PT.O.



(8)
921. 3 @ e & § P goaei e R w8l B
Which of the following is correct electronic configuration of Argon-
& 8 2) 2,88
(3) 2, & 1 4) 8,2,8

22, ST ‘'x'" R T it &, x Cl, AT THRIES FIT 8, et Aot F I8 T
fbar g & rvatd BT—

Element "x" which is solid and having high melting point, form a Chloride
& Gl Thls element "x" would be in which group of Periodic table -

(1) <ifeTd/Na (2) HFferm/Mg
(3)  ueygffEH/Al (4) FRyfospi/Si

23, #3F 1 @ ¥ "CH," ¥, gt §-
Methane with the Molecular formula "CH," has-
(1) 4 gewane se/4 Covalent bonds
(2) 8 @eaaoTd §81/8 Covalent bonds
)\ 6 weganre §9/6 Covalent bonds
(4) o ggawd §¢/2 Covalent bonds

24, DRI S UTeY BN BT S DPIABT F ST FRAT 8-

Cell organelle which differentiates plant cell from animal cell is-

s |
)

(1) et f3reelt/ Cell Membrane
(2) warfeegd/Plastids
(3)  f@r/Nucleolus
(4) Rfacre/Vacuoles

% B (Rough Work)

NTSE 13 - SAT



25,

26.

27.

28.

-1

(9)
Y Uk YR T ATl Sefep & R arg ol 2
Blood is a type of connective tissue, which has—
(1) o BfeR B /R.B.C.
2) 93 BRR P/ W.B.C.

(

(3) =ieeed/Platlets

(4) Sod @t/ All of the above
O w7 18T & | grar 8-

Bile Juice is secreted from-

(1) ®r URmT/Salivary glands

(2) 3 IfeT/ Intestinal glands
(3) 31T /Stomach

(4) Ipa/Liver

I N 9 ST et &, a9 a‘ramm:auaﬁvﬁa?mﬁ%,ag%—

When acidity in Stomach increases, the medicine generally used is—

(1) @M &1 e1/Sodium bicarbonate

(2) w9 |re1/Sodium Carbonate

(3) M FIEFE/Ammonium Carbonate

(4) 3T qrgEe / Ammonium bicarbonate

AR ORT atf o v m € g7 2

Planeria is kept in which group -

(1) H3=er/Coelentrata (2) wicrRfeufat/Platyhelminthes
(3) ferer/Nematoda (4) uHifeseT/ Annelida '

% B (Rough Work)

NTSE 13 - SAT

[PT.O.
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al.

32.

(10)

=7 & | Y STARISET T SRR B

Which of the following is an example of Brayophyte—
(1) #=R~/Moss (2) @+ /Fern
(3) urgw¥/Pinus (4) 1%/ Algae

upf), 7f, o1, wrendt, &, ®, @), A, T, o ', 98 g

Dissimilarity found in Aves and Mamalia is—

(1) wf ofeRyRY woft/Warm Blooded Animal
(2) oS 3d &/Lay eggs

(3) @wT PFHH aRT/Breathe through Lungs
(4)

IR HEd g4 /Four chambered Heart
geref ST TSt qivor & 5w araead g

Substances necessary for autotrophic Nutrition are—

(1) @ SrEaierTEs @ 71/CO, and H,0
(2) uvfgRa /Chlorophyll

(3) 9 @1 uer/Sun light

(4) Saa at/All of the above

g g9 T ISR W AT STl 8, 9% B

.Blood Pressure is measured with an instrument called—

) emiter/ Thermometer

) wefiRepig/Stethoscope

3)  FRIEHI AR /Sphygmo manometer
)

T & (Rough Work)

NTSE 13 - SAT



(11)
33. UG H TR IuF Sueerll -

Phloem tissues in plants are responsible for—

(1) ST @1 g/ Transportation of Water
(2) N %1 HagT/ Transportation of Food
3) A 3Rl BT Hag/ Transportation of Ammino Acids

(
(4)  SATRfISI @1 Hags/ Transportation of Oxygen
34. 5 diet F 1R wae arm o € 9 $-

The plants in which vegetative propagation is found, are—

(1)  af%eH/Brayophyllum (2) =T/Sugarcane
(3) T3 /Rose (4) <ad @t/ All of the above

35. =1 5 9 9 yrey erAF T &

Which of the following is not a plant harmone—

(1) offe=f=/Auxin

(2) RyeRf=a/Gibberellins
(3) wrgerTRf/Cytokinin
(4) ufgAfes1/ Adrenaline

36. Wy = x? - 3x - 4 A R T TH &Y SMHRY DA
Graph drawn from the equation y = x? — 3x - 4 will be-

(1) guR/Circle (2) UdeT/Parabola ©
(3) et w@r/Straight line (4) arfdwRaea/Hyperbola

IF Pt (Rough Work)

NTSE 13 - SAT [PT.0O.



37.

38.

39,

VCIET @

(12)

' 91R b’  Fo 7 25 o, T YR et 35 g 5 AR T ¥ R B8 B
2x +3y =7, (a-b)x + (a+b)y =3a+b-2

For which values of ‘a’ and ‘b’ does the following pair of linear equations have
an infinite number of solutions—

2x +3y =7, (a-b)x + (a+b)y =3a+b-2

1) a=5"b=1 2 a=4b=2
3 a=1,b=5 @ a=2b=4

g b? — dac > 0 & a fewmd i ax? +bx+c = 0 & 95 8-

If b2 — 4ac > O then the roots of quadratic equation ax?+bx+c = 0 is-

b vb?% -4dac b +b® +dac
(1) =—d—— (2) —-—— % ——
2a «  Za 2a 2a

B h sdas b Vb? —4ac
3] . == & meam— (R, === g —a7
2a 2a _ 2a 2a

et TR Aol & AR SR e ue @1 A 6 § BfR TS 8 8, AR Bl

The sum of the third and seventh terms of an A.P. is 6 and their product is 3,
then common difference is—

ELl el (2)

H

5=

2
1
4

% & (Rough Work)

NTSE 13 - SAT



(13)

40. | 3fRpfa 3§ e ABCD A afe AB 11 CD & &l x &7 AT &RTi—
In a given figure in trapazium ABCD if AB Il CD then value of x is-

2 , &
3 (@) 29

1

(3) 20 @) 35

41. ai% (x, 0), (0, y) T (1, 1) forg g & a1 ==y BNTT—
If points (x, 0), (0, y) and (1, 1) are Collinear then the relation is—

(1) x+y=1 (2) x+y = xy
3) x+y+1 =0 4) x+y+xy =0
42. 3f¢ Sin(A+B) = —\/2—5—, Cos (A-B) = —\g_ei g O<A+B < 900, A>BETMATB
&I A BT—
If Sin(A+B) = g, Cos (A-B) = —\/213_- and O<A+B < 900, if A>B then the
value of A and B are-
(1) A=45,B=15 (2) A=60", B=30"
3) A=0°, B=30" (4) A=30", B=0’

% ®1d (Rough Work)

NTSE 13 - SAT - [PT.O.



(14)
J g Y
43. Fr ey 0° ¥ 90° aw B 3 el R P woTE Hi wrrE § gRad B

If the Angle of elevation of sun increases from 0° to 90° then the change in the
length of shadow of Tower will be— \

(1) wRors 4 o gRad 7&f 871/No change in length of shadow
(2) uveTg & FTs 9¢it/length of shadow increases

(3) uBIS &I a8 Tl /length of shadow decreases

(4) weTs = & swh/lengh of shadow will be zero

44. v it 1 aRAY g g DT uRfY SRR 21, T o BT & 12 1m? B, 1 g1 BT ke B— |

The perimeter of square and circumference of Circle are equal, the area of square
is 121 m? then the area of Circle is— : }
(1) 7 nm? (2) 14 n m?
3) 21 1 m? (4) 49 n© m?

45. gt 49 arer O RorT 14 S, ot a1e e g & 5T & ATBR B & | ST JAHR ;
RRI &1 <t 4 3. 7 2 ¥ €, 59 o & arfar grf-

A drinking glass is in the shape of a frusturm of a cone of height 14 c¢cm. The
diameter of its two circular ends are 4 cm. and 2 cm. then the capacity of

glass is—
2 1 3
(1) 102 - cm?® (2] 102 — ome
3 3
2 101 L3 4) 101 b
(3) 3 om (4) 3 cm

% & (Rough’ Work)

NTSE 13 - SAT
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46, [l IREIRAT 47 BT eGP 525 8, TAT 98aF 500 81 dl HIeg ill—
The median and mode of a frequency distribution are 525 and 500 then mean
of same frequency distribution is—
(1] - 75 (2] 1075
[ B27.5 (4) 5375

47.  wiRrear Rigrd W amenRa “The Book on games of chance” J¥d® & o5& o—
The author of the book “The Book on games of chance’” based on probability
theory is—

(1) . @rEA/d. Cardon

(2) oR.Ud. geaed/R.S. Woodwards

(3) d1.u9. &1/ PS. Laplace

(4) 918t waf/PD. Pherma

5
48 NEEN P B BT YRAIART BFTT—

5
Rationalising the denomenator of —ﬁ_ & o
) gj(ﬁ+£) 2 (- 2]\ +B)
X J
2\V3-+5 5) /3-8
@ (3)¥3-¥5) @ (-3)(3-)

T &1 (Rough Wgrk)

NTSE 13 - SAT [PT.O.
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2100
100
Value Of —2—— is—
(1) 1 2) 50
8, 2 @) 27

50. U farg @ fadt oy fomg aa oy fbait ofieft Yy i<t S el 8-

The number of Straight line drawn from one point to any other point are—

3) 2 4) 1 -

51. RIMRAFaRPQ ST, Z PQR = 110", Z RST = 130°at Z QRS &1 A &FT—

In a given figure PQ 11 ST, Z PQR = 110° ,Z RST = 130° then value of Z QRJ]
is— :

S " T
130°
149 Q
110°
R
(1) 20° 2) 50°
(3) 60° 4) 70°

T $1d (Rough Work)

NTSE 13 - SAT
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52. fonelt e Tt % Uit b AEIAORE S SNfy SN & 98 B—
The bisectors of angles of a parallelogram makes a figure which is—
(1) 3mad/Rectangle (2) gu/Circle
(3) Y=YST/Pentagon (@) 318‘5\?[ /Octagon
53. g ¥ G 9 T A wEd E-
The Chord of maximum length in a Circle is called-

(1) f3ar/Radius (2) =9/Arc
(3) =/ Diameter (4) fa=g/Point

54. fait Brgst ABC Rradht et 24 #fY., 40 #t. g 32 . 8 a1 &3%ha aFM-
~ Area of triangle ABC whose sides are 24 m. 40 m. and 32 m. is-

(1) 96 m? (2) 384 m?
(3) 43 m? 4) 192 m?
55. U 39 gl o3 bl Y 4.4 W2 g Al e B g 0.7 W & ar =g gl (et
22
n = 7)
Curved surface of right circular cylinder is 4.4 m? radius of base is 0.7 m. then
the height is (Take T = 27—2)
1) 1d/lm @ 2#/2m.
(3) 3#./3 m. 4) 44./4 m.

% @1 (Rough Work)

NTSE 13 — SAT [PT.O.
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56. SFR-A~cR I o7 fobvmy g o ?
- Who built Jantar-Mantar ?
(1) ars SIaRig/Sawai Jaisingh
(2) it e ST/ Mirza Raja Jaisingh
(3) % 9FRE/Raja Mansingh
(4) wa R¥g/Pratap Singh

57. 'fa miae’’ & w@lar 97

Who was the author of “Geet Govind’’?

(1) ¥RTER/Sarangdhar

(2) S<a/Jaidev
(3) #mrENerRT/Madhodas
(4) f98r/Bihari

58. &HaT ot sy fhvr e F R 872
Kaila Devi Sanctuary is situated in which district?
1) 3aR/Alwar.

(

(2) §RY¥/Dungarpur
(3) @A/ Karauli
(

)
4) 3Ig9¥/Udaipur

% & (Rough Work)

NTSE 13 - SAT



60.

ON
N

(19)
- o 50 Jerd: JRardt ar?

Who was mainly responsible for ‘“Bang-Bhang”?

(1) & foied/Lord Litton

(2) &is Rud/Lord Rippon

(3) @i #Hpres/Lord Meuchale

(4) &€ ®o/Lord Korzen

1913 T TIaT AT e A fhed a1s off—

In 1913, Dada Saheb Phalke made the movie—
(1) s¥9d/Basant

(2) o gReeFg/Raja Harishchandra

(3) TSt/ Anari :

(4) UST IR<T/Paying guest

frotfe @ 87

What is Gilotin ?
B3 HY @ /Mine of Coal

(1)

(2) #ra aferiT/Human Settlement

(3) 7g Hef[/Death Machine |

(4) FuFEFARd PN/ Shifting Agriculture

TS 9RT ER S R 8-

Massai Mara national Park is located in-

(1) ¥Rd/India (2) urfera/ Pakistan
(3) ¥e™/Sudan (4) &=a1/Kenya

% B (Rough Work)

NTSE 13 - SAT ' " [PT.O.



63.

64.

65.

(20)

I bt Wit wedwer b Qo o Uee g8 2

In which country first time the cultivation of opium begin?
(1) g/ Portugal

(2) ¥rRd/India

(3) dIM/China

(4) f3eF/Britain

e fdsagg & ar it |y S oR et e

Which treaty was imposed on Germany after first world war?

(1) o¥fg/Versailles

(2) uf¥/Paris

(3) fa¥FT1/Vienna

(4) &1/London

IR ¥ UgaT fhdhe Tod fpam @lar ?

Who opened the first Cricket Club in India?
(1) 3T/ Britisher

(2) f&</Hindu
3] urdt/Jurestreian

. (4) ga&H™/Muslim

I% Bf (Rough Work)

NTSE 13 - SAT



66.

o
e

(21)

"SRB RIT 57
What is “Barkan’’?

(1) a & 21 @1 99/ Name of Sand dune

(2) @ @1 7/ Name of Village

(3) U= @ A™/Name of Tree

(4) gdd @1 A /Name of Mountain

RFT 5T Y AT DY HISER Dal ST 872

Which state coast line is called the Malabar?

(1) 7RI/ Gujrat (2) I/ Kerala

(3) eI/ Rajasthan (4) ufes @/ West Bengal

JUIYFAR 3IRUY R 8-

Ranthambore is situated in—

(1) o/ Rajasthan

(2) 3rUTEs <9/ Arunachal Pradesh
(3) argH/Assam

(4) =g ye9r/Madhya Pradesh

A TSN, T g1 A 8-

The full form of C.N.G. is—

(1) @urevs g iK1/ Compound Natural Gas
(2) Prod TR 14/ Complex Natural Gas
(3) @FevE =g 1M/ Compound New Gas

(4)

FHIRE TR i1/ Compressed Natural Gas

¥ 0 (Rough Work)

NTSE 13 - SAT [PT.O.



70.

Yigin

.

713.

(22) -

I B 3D o

The ore of iron is-
1) gherse/ Haematite

(1)

(2) ¥/ Uranium
(3) diadrge/Bauxite
(4) forge/Lignite

IRA A forTard 8-
Gender ratio in India is—

(1) 880/1000 (2) 940/1000
(3) 300/1000 (4) 400/1000
WREST-AMe URARTT b et 1R feere 87
Bhakra-Nangal Project is situated on the River?

(1) <aer/Satlyj
(2
(
(

3
4

gmex / Damodar

)
) gmsT/ Tungbhadra
)
) #18/Mahi

g Sftq AReT AR TR § de @] ar?

When was “Indian wildlife Protection Act” implemented?
(1) 1970 (2) 1972

(3) 1974 4) 1976

% & (Rough Work)

NTSE 13 - SAT



74,

4a.

76.

i f

(23)

N U $ #Hies B
Salty Water lake is—

1) SIaHg siié/Jaisamand lake

(

(2) e e /Rajsamand lake
(3) Sream fies/Didwana lake

(4) TR e/ Gapsagar lake

offa =hg ¥ B ATt a9t BT HET ST B
The Rainfal! that occurs during winter season is known as—
(1) HA™R™A/Monsoon

(2) =pard/Cyclone

(3) amg auf/Mango Shower

(4) #H193/Mavath

YR BT Y2 AFRD HIF BIdT &7

Who is the first Person of India ?
(1) gur=AT/Prime Minister

(2) Eufd/President

(3) wvguTes/ Governor

(4) g&gHAT/ Chief Minister

=T | 9 DT S YA IEHY BT YRl ey Tel 87

The Country that is not permanent member of United Nation Organisation is?
(1) ¥%/Russia (2) faes1/Britain

(3) =@+ /China (4) 9Rd/India

T $d (Rough Work)

NTSE 13 - SAT : [PT.O.
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78. T B Ak ¢ thieH'’ fhadh arerma §7?

“The long walk to freedom” is autobiography of ?

(1) =+ 5vSaT/Nelsen Mandela g
(2) #aren Mieft /Mahatma Gandhi

(3) &vr 3N9™T/Barak Obama

(4) If=d™ gea/ Amitabh Bachchan

79. 'R Afedr’’ &1 ey fhg 9 87

“Code of conduct” is related to ?

(1) 3&/War

(2) uRas"/Transportation
(3) wWren=/Cereals

(4) gTa/Election

80. ''gaT & HfeBR AR’ &b rld B TREHR A GAAT AT Hehell 87
Who can seek information from government under ‘‘right to information Act’’?
(1) @12 *ft AF1R®/ Any Citizen
(2) &ae ARBRI @R /Only Government officials
(3) Pa® @pAdT H Fafferd @ewa/ Only elected members of Loksabha
(4) Fao faar w91 7 Faffyd wewa/ Only elected members of Vidhan Sabha

81. RdT Afer $it amedt el F fhae v &2
How many languages are there under article 8th in the Indian Constitution?
(1) 22 2) 20
3) 25 4) 15.

% ®™ (Rough Work)

NTSE 13 - SAT
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(25)
T ferey I AATfIPR < 1T fA9T &1 yger 397 &7

The first nation of the world which provided adult franchise is—

1) 3mR®r/America

(
. (2) 9Rd/India
(

83.

84.

85.

3) 3§ii&/Brazil

(4) * =gsitehvs /Newziland

e 3 9 o 291 o U SN agaween iueTE WS 22

Which of the following Country has adopted the one (single) Party System?

(1) 9Rd/India
(2) 3mRaT1/America
(3) Sm/Japan

(4) </China

Wﬁ_’rq NI BN Pl FATIAT T gE?

In which year Indian National Congress was established?

(i 1569 (2) 1885

(3) 1985 (4) 1905 '
o1 o 9 U drganfRyd weer e &7

Out of the following which is not a union territory?

(1) gga99t/Puducherry

(2) =veg/Chandigarh

(3) . Mar/Goa 5w
(4) @9 9 d/a/Daman and Div

IF B (Rough Work)

NTSE 13 - SAT v g "~ [PT.O.
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86. EIT AN AR TRET AT Pa IiRe gamr?

When was the ‘“National Rural Employment Gurantee Act” Passed?

(1) 2001

(2) 2003
(3) 2005

4) 2007

87. hdd wmE?
What is GDP ?

(1) 9P ofid Icared/Gross Daily Production

(2) TP €N, Icured/Gross Domestic Production
(3) e Tve Afdd/ Gross Domestic Power
(

4) e fdPry Sq1e/Gross Development Production

88. WRd ¥ WEN SuNedT e e HAHRT ST 8?

When is the National Consumer Day celebrated in India?

(1) 24 fewR/December, 24
(2) 16 Ria=R/September, 16
(3) 8 #Arl/March, 8

(

. (4) 25 7g/May, 25

W & (Rough Work)

NTSE 13 - SAT
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89. SFIVFT 2011 & SR ORI & TraRaT v 87
According to Census-2011 the literacy rate of Rajasthan?

(1)
(2)
(3)
(4)

48.34%

54.90%
67.06%
74.04%

7 H
o

9. wﬁﬁ%mfﬁrgﬁaﬂamaﬁﬁg‘s‘?

In which year did the Economic Liberalisation start in India?

(1)
(2)
)
4)

1991
1996
15999
2004

NTSE 13 - SAT
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